
 1 
 (i)

A  B  c   D 
 e   (ii)

A   B  C   d 
  n  (iii)

A   B  C   d 
 (iv)

A   B  C   d 
 x = x , x  R  (v)

a   B  C   D 
 a>c b>c  a>ba,b,c  R  (vi)

A  b  C D 
  = x  2x×8x = 64 (vii)

a B C D

 b = a  a = ba,b, R  (viii)

A b  C  D
= (ix)

A B C d

 (x)

A   B  C   d 

 c=  b= a=  2 

(i) a(b+c) = ab+ac
L.H.S. = a(b+c) 

 c=  b= a=

=   =  
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=   = 

R.H.S. = ab+ac

 c=  b= a=

= =  = 

=  = 

L.H.S. = R.H.S. 
(ii) (a+b)c=ac+bc

L.H.S. = (a+b)c 

 c=  b= a=

= ×  = × + ×

= +  = 

= 

R.H.S. = ac+bc

=  ×  +  × 

=  +  = 

= 

L.H.S. = R.H.S. 

 c= b= a=  3 

    
a+(b+c) = (a+b)+c

L.H.S. = a+(b+c)

 c=  b= a=

=  +  = +
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= +  = 

= 

R.H.S = (a+b)+c

= +

= +

=  +  = 

= 

L.H.S. = R.H.S. 


a(bc) = (ab)c
L.H.S. = a(bc)

 c=  b= a=

=   = ×

= 

R.H.S. = (ab)c

=  × 

= 

= 

L.H.S. = R.H.S. 
 0  4 

  0  

 0  , ,  0q0  q  p

 0 
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 5 
 

a,bR, either a=b or a>b or a<b

 5  4 6 
 5  4 

 5  4 

 5  4   5  4 

 5 

 =  =  = 

   5  4

 7 

(i)

= 

=  = 

(ii)

=  = 

=  = 

= 32x

(iii)

 =  = 

=  = 27
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 51   8 
 a+4a+2a  

(a)+(a+2)+(a+4) = 51 
3a+6 = 51   3a = 51–6

3a = 45   a = 15
 = a = 15 
 = a+2 = 15+2 = 17
 = a+4  = 15+4 = 19

 96   9 


 = 96 
 = a 
 = a+28


 = (a)+(a+28)

96 = 2a+28   2a = 96–28

2a = 68   a = 34

 = a = 34 
 = a+28 = 34+28 = 62

  3,50,000  10 
 7  8  2 


 

 = 

P = 3,50,000, R =  = 7.25%, T = 2  

I1 =  = 50,750 

R = 8% , T = 5   2

I2 =  = 140,000 
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 = 50,750+140,000 = 190,750

 7

 =   + 
= 350,000+190,750 = 540,750 

 540,750  7   


 

 .1

A  b  C   D 
 .2

A 4 B 5 C 6 d 7

 (0) .3

a   B   C   D 

 Q={ ;p,qz^q0} .4

A   B   c   D 
R = ________ .5

a QQ' B QQ' C QW D QW

 .6

A B C 16 d

e = ________? .7
a 2.7182 B 2.1287 C 1.7182 D 0.7182

 0.444... .8

A   B     c     D 
 .9

A a+bR B a+0=0+a C a+(–a)=–a+a=0 d a+b=b+a

 a(bc) = (ab)c .10

a    B  
C   D   
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 .11
A 0 b 1 C –1 D 2

 aR, a = a .12

A   B  c   D 
 .13

a  a,b,cR ; a>b^b>c  a>c B  a,bR ; a > b  <

C a,b,cR ; a+c = b+c   a=b D a,bR ; a=b  b=a

  .14

A   b   C   D 

% = ? .15

A % B  c % D 


 

  0.3 .1

x = 0.3  
x = 0.3333... ....(i)

 10 
10x = (0.3333....) × 10
10x = 3.3333.... ....(ii)

 (i)(ii) 
10x – x = (3.3333...) – (0.3333...)

9x = 3    x = 

 0.3 = 

 .2
(i) (2×3)×5=2x(3×5) (ii) 5+0=5=0+5

 (ii)  (i) 
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 .3

= 

= 

= 

= 

= 

(x³)² ÷ x³²  .4

(x³)² ÷ x³² 

= 

=  = 

=  = 

 x–  x=2+  .5

x = 2+ 

= 

=  × 

=  = 

= 2–

x– = 2+ –(2– ) 

= 2+ –2+

x– = 2
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 2000  5  5000  .6

 = 5000  
 = 2000 
 = 5 



 = 

=  = 8%

 8 

 .7

 

 .8

 


 .9

 

a,b,cR ; a+c = b+c   a=b

 .10

= 

= 

= 

= 


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